
LG091−6A, 71

Farbmetrische Transformation i = 6
c*i  = c*6  = a c*b mit a = 0,25; b = 1,00

rgb −> olv* olv* −> olv*6



LG091−6A, 72

Farbmetrische Transformation i = 6
c*i  = c*6  = a c*b mit a = 0,25; b = 1,00

rgb −> olv* olv* −> olv*6



LG091−6A, 73

Farbmetrische Transformation i = 6
c*i  = c*6  = a c*b mit a = 0,25; b = 1,00

rgb −> olv* olv* −> olv*6



LG091−6A, 74

Farbmetrische Transformation i = 6
c*i  = c*6  = a c*b mit a = 0,25; b = 1,00

rgb −> olv* olv* −> olv*6



LG091−6A, 75

Farbmetrische Transformation i = 6
c*i  = c*6  = a c*b mit a = 0,25; b = 1,00

rgb −> olv* olv* −> olv*6



LG091−6A, 76

Farbmetrische Transformation i = 6
c*i  = c*6  = a c*b mit a = 0,25; b = 1,00

rgb −> olv* olv* −> olv*6


